ZFO{CHAF  Dbun 2p5AF o AL w10k o FS(RSBHAY) 1093

MAIRS 0124 22k A1, W IOFT (3AIRSZFR 14 UHE2I4) I f T2 ok F $AD Ay}
= A R
= E S MR

ol = 20254 2.?2 1r|ﬂ!|(-?§) ~ i-?g 23“;' (%) lgﬂzl 10'“!'

MEAIZE  ov% 273 2417 (941 3048 ~ 1141 30%)

MEI|E 20255 19 1794(2) ~ 1% 24°(2) mia) [l =1
|
AEared g8 AR, T2k A1R3Ad (httpsi//naver.me/xQe126T1) #iE [m]b

2 o] UHE394 AYER2R13F 02-3425-6612/6615
R4
W ok grEiGlol RIS

LY 1374k KIT 21 Al LT
e SO A - w3 Al - SN AL Y AE 2% - w22, 0y
ten o VET 4T
- 3AJY 224 - AlsdtE 23 = 8 - 2 U] 3FanA

- 2| cprl AZAl
= Td4sley AJ2 24 = A 3432148 & - [e4%]) Q:i 222, 51; £ chrd 434
1"1 ol ra 1‘

g < <4 <4

2% 102(#F) ~wI () * 23 179 (%) ~ 289 (2) 2% 209 (3)

WY YF23req 233 9) kIT 429

& 3FTeA



